A« Which of the following statements are
true —

()~ Conversion costs and overheads are
interchangeable terms

(i) Notional cost and imputed cost means
the same thing '

(1)) Cost accounting is not needed by a
non-profit organisation

(iv)Q Rent on owned building is included
in cost accounts. |

Select the correct answer from the options

given below —

PR
(B) (111) and (iv)

(©) (1) and (iv)
(_D) All of the above.

2. XYZ Ltd. had 4,000 units of inventory in
hand on 1%t March, 2016, costing I4 per
unit. Purchases and issues of material during
the month were as follows :

Date Purchase Issue
March 8 500 units
@ 35 per unit —
March 15 — | g_@wts
QUESTION PAPER ke
@ 6 per unit —
March 28 — 4,000 units

The cost of inventory as on 31% March,

2016

o 3
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3.  What journal entry is to be passed in non-
integrated accounting system when finished

goods are sold at cost — s

(A)

(B)

f"z.._ - 2

Debit General ledger adjustment
account and Credit Costing profit and

loss account
Debit General ledger adjustment
account and Credit Finished goods

stock ledger account

g;)«- Debit Cost of sales account and Credit

(D)

4.

Costing profit and loss account w
Debit Cost of sales account and Credit

Finished goods stock ledger control
account.

Match the following industry/product with

appropriate cost unit :

(1)
(ii)
(1i1)

(iv) Transport

Industry/ Cost unit

Product
Toy Industry— (a) Per batch

Steel Industry, .(b) Tonne-kilometre
Chemical (c) Tonne

(d) Gallon

Select the correct answer using the codes
given below —

(1), (ii) (iii) (iv)

Ad @rTe e o
® @ ® @ ©
©@® O © O
O®n @ © @

}/‘Which one of the following statements is

'(A) Management accountant uses COst

accounting tools and techniques for
planning and decision making

(B) Management accounting is mostly

LA

historical in its approach and it
projects the past

= = —
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W) Cost accounting system can be
installed  without

accounting

(D) Management accounting focuses on
wealth maximisation.

management

6. 4,000 Kgs. of materia] is purchased @ ¥2

per Kg. Normal wastage 1s estimated at the
rate of 10%. The wastage has recovery

value of X1.10 per Kg. Calculate cost of
material of work order of 600 units, if each

unit requires 1.5 Kg. of material —

(A) <1,260 ) G‘foiﬂ

(B) 1,800 «1"/
(C) 1,620 °
(D) 1,890

\,7./ What is the treatment of unrealised profit in
process costing —
(A) Transferred to profit and loss account
(B) Closing stock valued at transfer price
(C) Eliminated by creating stock reserve
\,(B{ Treated as abnormal gain.

8.  Cost-Volume-Profit analysis is based on
several assumptions. Which one of the
following is not one of these assumptions —

(A) Sales mix of the products is constant

(B) The behaviour of both sales and

variable cost is linear throughout the
relevant range

\{9/ Variable cost per unit will remain
nstant '

( Productivity and operational efficiency
will change according to output.

RERUIe VW ANSWERS N

@/ Which of the following is/are not 4 purpoge
of time keeping —

1)~ Ascertaining labour cost of a joby
product/activity

(i) Evaluating labour performance by
comparing actual and budgeted time

i) Providing internal check against
dummy workers.

Select the correct answer from the options
given below —

(A) (i) and (ii)

(B)  (ii) and (iii)
©r (i) and (iii)
(D) (ii) only.

\lﬂﬁ; Ltd. has profit after tax 90,000,

depreciation T17,000, and decrease of
debtors ¥20,000. The cash generated from
operating activities will be —

(A) 87,000

L(BYT93,000

(C) 1,27,000

(DY %53,000

\y./ Classify the following expenses as direct
(D) and indirect (I) —

(1) /9 Royalties charged as a rate per unit -/ »
(11)

Cost of making a design, pattern for
a specific job- .- %,

(1) Salesman's commission ,-17

(iv) Power, fuel, lighting of factory and
office. 97
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\
e oduct cost
ATO] it it produclt Cos
: L 15. Under marginal costing, uni
St e poveeet MaTves Deigy; (05000 would most likely be increased by —
given below — . (A) A decrease in the number of units
(i) (ii) (i) (@) ssolioced
(4) D) ®) - W (B) An increase in the number of units
) (D) (D) (D &) produced
(C) (D) (D) (D) (D) (C) An increase in the cnm:jmasmn paid
) to salesman for each unit sold
m ®» ® DO e
(D) A decrease in the commission pai@ 10
' d.
lesman for each unit sol
Aﬂdﬁl‘ Merrick's multiple piece rate system, -
| f the-ordinary piece rate is given to i rofit as
S ' lies /A company reported current year p
k hose level of performance \1/6..- . diustments
workers w X 70.000 after the following adj
A Loss on sale of equipmen - S,
83% and 100% Premium on debenture <1,500
(B)~ 73% and 100% redemption ?22 000
d 90% A s B . 24,000
0 .
(©). 5% m Dividend income AR
N f .pet;llicms
nt of fund from O LD
.XS/ Current liabilities of a firm are ?1,50,00(?- Ttle amou “teeo
' . is 3:1 and liquid ratio is will be — _ Doc©
Its current ratio is 3:1 and liq 206000 — 1903
: alue of stock will be — (A) , | Yo
Al Toay o 2=~ (@) 293000 ugy
0,000 11250 ' — V300
(B) 4,50,000 //ﬂ’}il/ - \LD)/(GLOOO B
3 X :? i : tives
(C) ?21501000 \ L \ f?’qf‘fﬂ 17' In p[‘DCﬁSS cosung‘ abnoma.l Cffﬂt:
q\ﬁﬁl P@){ %1,50,000 7 . }_: 3 %KC(J would arise if —

(A) Actual units lost during the process
were more than the normal 1?55
(B) Closing stock at etilcl of :::kpenod was
igher than opening S
(©) t:;Etmanl units lost during the process
were less than the normal 0SS
Estimate of cost per unit Was below

14. The state of production at which separate
products are identified is known as —

(A) Split-off point
(B) Break-even point

@)/R'e-cirder point

(D) Cost indifference point.

(D)
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18. '
Af company producing three products,
:;z,zlf;’ and Z has sales mix in the ratio
:1:3. The profit volume ratio of the

,_,Z*I/Match the following statements h
1t

prescribed forms :

od
5{;97 u:ets X, .Y and Z are 15%, 30% and Statements F
o respectively. The total fixed 1) C : i
th : €d cost of ost Audit Report to
: 1;3 cgmpany is 3,50,000. Ctittal Govemmment (a) CRA 3
e
it bef‘fik even point of the company by the company
(A) %16,15.390 s o () Cost Auditor to submit  (b) CRA 2
(B) *17,50,000 %M/ report to the Board of
(€©) 23,33,333 b0 T80 B Directors
3 (1ii) Intimation of
(c) CRA 4

(D) %11,66,667 j&

.-f"’a

19. Which one
of the f
S nHawmg IS a non-current
(A) Securities premium
(B) Outstanding wages
(C) Trade payables
Bank balance.

20" Match the following :

Overheads Basis of
‘ apportionment
(1) Insurance (a) Floor area

of stock
(i) Rent and

other building

expenses
(.iii) Fringe benefits{ (c) Direct wages
(1v) Holiday pay d) Capital value
Select the correct answer using the codes

b) Number of
workers

given below —
2 i)  Gi) (v
)
Dt fE) gDy O

(Do o8 D)

(c)
u(Q/(d) (b) (a) ()
D) (o) (a) (b) ©

1
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appointment of Cost
Auditor to MCA by
the company

Se
- lect the correct answer using the codes
given below —

" (i1) (iii)
(A) (a) (b) (c)
(B) (¢) (a) (b)
(&7 (b) (a) (c)
D) (¢) (b) (a)

22. Identify the cost which is not relevant or

useful for decision making <

(A)_-Shut down cost
(B) Marginal cost

(©) Impﬁteei cost_and - replacement cost
(D) Sunk cost.

\2)/ EOQ is 200 units, ordering cost ¥20 per
order and total purchases 4,000 uniis. The

carrying cost per unit will be —

B
L R
(B) %6 Tt
©) ,,,,..,,TWO f
Dl Note ot vch T
one of the above. /c;’/
’?’f uo 2= 2
(7 227
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A
The budgeted overheads amounted o ‘

From the following particulars, calculate the
Z8 400 and absorbed overheads to ¥8,250.

24.
selling price per unit, if the break-even point
is brought down to 10,000 units : nEr The overheads volume variance s —
Selling price per unit 220 (A) X150 (A)
Variable cost per unit 216 (B) X158 (F)
(C) 142 (A)
Fixed expenses 60,000 D) 2140 (F).
Choose the correct option —
(A) T25 / ’/{/ /27. Assertion (A) : A current ratio of 2:1 1s
B) %20 o® considered satisfactory as a rule of thumb
’:J but it should not be followed blindly. +~
(C) 22 }#";G f Hﬂ Reason (R) : The greatest weakness of
(D) 32 o current ratio is the pn%ihilily of window
W dressing and manipulation. -
Select the correct answer from the options

MRndmd time allowed for a job is 20 hours
@"%2 per hour. Actual time taken by a

worker is 15 hours. The earning and
Halsey Plan (50%

given below —
(A7 Both A and R are true and R 1s the

correct explanation of A

effective wage rate under :
(B) Both A and R are true, but R 1s not

sharing) will be — N S Al Siiladl the correct explanation of A
(A) %35 and X2.33 - 1 : (C) A is true, but R is false
By 35 and X175 a> " (D) A is false, but R is true.
(C) %40 and 2.67 > '
(D) %40 and %3 00 igf 28, What is the proper sequence of events In
an 'activity based costing system — WO <

(1) ﬂt_ulauq.f of overheads application

ralcs. (
cost drwers@

(1) Identification of
(ii)) 1dentification of cost pool

(iv) Assignment of @@ds C(ﬁl Lo

26. Operating and accounting figures for the
month of January, 2015 with respect 1O

overheads were as under :

Actual oyerheads %8,600
Actual direct labour hours 26,000 Pmd“‘:"s*

~- 25 000 Select the correct answer from the options
Standard labour hours , Ven below —

(A) (@), Gid), Qv), ()
(B (i), (i), (), (v)
©)  (Gid), Gi), @), Gv)
D) (i), (i), (v), @)

Budget equation = 33,000 +
(90 paise X Actual direct hours)

Absorption equation = T1.50
% Standard direct labour hours

MR ANSWER SHEET SHALL ONLY BE EXAN

ANSWERS MARKED IN THE O
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29. Calculate machine hour rate from the

following :
Cost of machine : 19,200
Estimated scrap value : 1,200
Average repair and
maintenance charges
per month : X150
Standing charges allocated
to machine per month : 50
Effective working life of
machine
Running time per month : 166 hours
Power used by machine
S units per hour @ : 19 paise per
unit

Choose the correct option —
(A) <4

(B) <3.95
(C) 5.95

(D) T3.50

30. During the year ended 31%t March, 2015,
the profit of the company is 63,450 as
per financial records. The following details
are given :

Opening stock overstated

in cost accounts : 8,500
Closing stock understated
in cost accounts : 37,600
Factory overheads under
recovered in cost accounts : 34,500

The profit as per cost accounts will be —
(A) 69,950

(B) 65,950
(C) 51,850
(D) 56,950

31. Cost Accounting Standard \&)
1s related to bringing uniformity a;E
consistency in the principles and methods
of determining the selling and distributiop
overheads with reasonable accuracy.

A) 10
(B 12
©) 15
(D) 4

: 10,000 hours “{Which of the following statements is wrong

with _reference to contract costing —
Cost plus contract is suitable where it
is not possible to compute the cost

in advance

(B) Upward and downward revision may
be possible in contract price by
inserting escalation/de-escalation
clause o

(C) If certified work-in-progress is % or
more but less than %2 of the contract
price, no profit is to be transferred to
profit and loss account. -

(D) Loss on incomplete contracts should
be transferred to 'profit and loss
account.

33 Which one of the following statements is
true in ABC classification of materials —

(A) 'C' items of material have moderate
% of cost and high % of quantity
(@VA' items of material have high % of
cost and low % of quantity
(C) 'A'items of material have high % of
cost and high % of quantity
(D) 'B' items of material have moderate
% of cost and low % of quantity.

e /W ANSWERS MARKED IN THE OMR ANSWER SHEET SHALL ONLY BE EXAMINED [eelyi{c p®

34. Aman Ltd. sells its products at T16 per unit.
In a period, if it produces and sells 20,000
units, it incurs a loss of T2 per unit. If the
volume 1s doubled, it earns a profit of 2.20
per unit. The amount of fixed cost and break-

even point (in units) will be —
(A) 1,68,000 and 26,250 units
(B) 8,000 and 53,333 units
(C) T1,60,000 and 25,000 units
(D) %1,70,0000,and 42,500 units.

3 In a situation of rising prices, profit and tax
Jiability, would be lower under
method than under method of

material issue pricing.
(A) FIFO; LIFO
(B) LIFO; FIFO
(C) LIFO; Average
(D) FIFO; Average.

36. The purchase of machinery by issuing
long-term notes payable should be reported

as 4 —

Mn—cash investing and financing

activity

(B) Cash outflow in the operating activity
(C) Cash outflow in the investing activity

(D) Cash outflow in the financing activity.

38.

39,
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Stock turnover 6 times |
Total sales <3,00,000 T8>~
Gross profit ratio @ 20%

24,000 more than
opening stock

Closing stock

The opening stock 1s —
(A) 36,000
(B) 38,000
(C) 40,000
(D) 42,000

To produce one unit of 'A’, two ingredients,
ie., 2 Kgs. of X and 3 Kgs. of Y are

.

required :
Stock levels Opening  Closing
A (Units) 5,000 8,000
X (Kgs.) 11,000 14,000
Y (Kgs.) 18,000 21,000

What will be the quantity of consumption
of ingredients X and Y, if 20,000 units of

A are sold —

(A) 46,000 Kgs. and 69,000 Kgs.
respectively

(B) 49,000 Kgs. and 72,000 Kgs.
respectively

(C) 40,000 Kgs. and 60,000 Kgs.
respectively

(D) 43,000 Kgs. and 63,000 Kgs.
respectively.

_;’L/ A standard that represents the most likely dWhich one of the following would not form
part of master budget —

(A) Cash budget
\(B}—Statement of profit and loss
(C) Statement of financial position

(D) None of the above.

scenario can be referred to as —
(A) Attainable standard
(B) Basic standard

Ideal standard

(D) Normal standard.

1/2016/CMA  REA USSR
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41. S
e for a job i
per hour. Actu job is 40 hours @
; al time X2
310 hours. His total eﬁiﬂ by a worker 1s (C) A higher receivable t
an and Hal gs under Row desira urnover i
A s sey plan will be — an = ble I is no
and 70 re . ) Interest cov 48 :
(B) %70 and spectively erage ratio de . Which one of 19 -
) %60 and Z70 pectively Pon of reciprocal method ing is not a part =
(D) %75 respectivel of servic od for re-distributi . The techniqu
and Y60 y 5. Di e departments' ution R i of economi
respecti . Direct lab producti ents' overh is losing signifi mic order -
33/ Section (A) All lab ill include — (A) Simult S— 2;7 sinee the development
our cost . aneous equati -
Act, 2013 gives th of the Compani production d attributable to (B) Step method quation method B Perpetual inventory  {; R
as the financi e cost auditor sam e (B) Lab D r (C) Re (B) Just-in-time L O
cial auditor has und S A D our cost of producti O T .PﬂﬂtEd distribution method (€) 3 Pirst-in- e
o of th er secti uction ion a rial and (D) AB :
x(A e Com . on Suppon - nd error meth C analysi
B )) ::33, 143 panies Act, 2013. (€)Y~ Cost of direct labsewlces 49 . 53 e
(©) , 148 converting our engaged in «  Foan : . A firm plans to prod
147 raw m : : o . Z50.000 : produce 1,980 uni
43, 144 (D) Cost of labo = Sales . 70,000 productivity is 2 urnit1 P Raipncard
ur recrui : Z7.00 Avera 9l 3 s per man
4 the ited dir The ai 00,000 | ge labour effici . hour.
3. Balance of inv c management and ety by (A nount of margin of safety wi is 15% of altcn; ﬁ‘-’-‘-‘l&rfcy is 91%, idle ime
on 315 estment account i ontractors. through w;/y’OO,OOG , *“111 be — . 70%. H ance time and absenteei
March, 2014 ~ ?20?000 25.00.0 ? -$ . .ﬂ. OwW many worke AL
31t M and <30 46. Followi 00,000 o7 9% recruited to prod rs should be
: ' ‘o ni : Lad pa —
includes Z1.000 from received 3,000 Cﬂntrac[ Price - * o 136 Lo
which is credited to p re-acquisition profit CUSI incurred . £10,00,000 50. Which one of th (D) 151
a - : .
The amount of investl;nvﬂs{mem account. WOSlllc et : :5!60’000 advantage of budgzt following 18 not an 54. 1
during [he ycar 2 ent puf{:hased/ SOId D I rfot CErtiﬁed : 51405000 (A) Ma_ximi . ary control — T :\l,,’u articles A and B are
(A) 13,000 014-15 is — eduction by way of :+X60,000 - sation of profit througl factory. Their specificati produced in a
! : : " : C
(B) 7 : P‘lll'chasEd retention money . @)}/Pl 1ve plﬂﬂﬂlng gh 4 units of A or 2 units ﬂfﬂuﬂﬂs show that
111000 Th 10 ‘ anned a in one : B can be prod
(C PUI‘Chased e amount of noti % (C pprﬂaﬂh for Eipcnd' ‘ ve hour. The bud pr uced
) 9,000 purchased (A) <40,000 otional profit is — ) Create necessary i ure for January, 2015 _1u geted production
D) 39 ’ setting- conditions for 500 units of B. 1 is 800 units of
000 sol B) 1,0 g-up of stand units of B. The A and
old. ,00,000 (D ard costs . The actual :
C ) Based , the month was prOdUCtmn f
44 ' (C) <4,40,000 ¥ on quantitative data a e 1 was 900 units of A and 180 i
- Which one of th . (D) None of on present only an imperso n - Actual labour hours s
e foll the ab t nal apprais The efficie . spent were
co owin ove. o the co | ppraisal ciency ratio f 350.
rrect — g statem : nduct of b : y ratio for ]
ents 1s usiness activi (A) 809 anuary, 2015 is —
(A) Lo ~ Those fixed o ity, " - 0% is
wer debt equi : ixed costs whi 51. Job : _ (B) 85%
uity rati inc which cont . Job analysis is : | o
(B) e " e G i, SRt Qe e i st 1 (€ 0%
Increase . ¢ —_— I ucﬁﬂﬂ W n (D) 9"-1‘-7
1n ne p orkers to : eeded b J70.
rease in sales et (B) Discreti - Qualifications actorily. ~ 59. Adi
e =i irect cost is a cost which can be :
(C) Committed costs ©) e on the basis of — classified
D Mechanical methods (g) Behaviour
) Various jobs. ((C) Traceability
wmnabmw
Relevance.
P.T.O.

(D) Output costs.
BE EXAMINED
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§6. Following information is given : The effective passenger-km per annum

Input raw material 2,000 units @ I20 per will be —

unit - (A) 2,40,000
Direct material . 8,400 (B) 28,80,000
Direct wages _ : 13,000 (C) 14,40,000
Production overheads . 12,350 (D) 24,00,000

Output transferred to

Process-II : 1,800 units 59, Which method of joint cost apportionment
Normal loss of input : 5% is suitable where further processing costs
Scrap value per unit 3 A after separation point are not incurred

Value of abnormal loss will be —
(A) T3,657.50
(B) <3,881.60
(C) <3,850.00
(D) 3,687.50

proportionately or all the joint products are
not subject to further processing —

(A) -Physical unit method

(B) . Contribution margin method
,((}}/Relative market value method

(D) Market value after further processing

57. The original standard rate of pay in a factory swisthod

was <4 per hour. Due to settlement with
Trade Unions, this rate of pay per hour was
increased by 15%. During a particular

period, 5,000 actual hours were worked
whereas work done was equivalent to 4,400
hours. Actual labour cost was I24,000.
Labour cost variance will be —
(A) 6,400 (A)
(B) 6,000 (A)
(C) 6,400 (F)
(D)- 6,000 (F).

60. The ratio of variable cost to sales i1s 75%.
The break-even point occurs at 64% of the
capacity sales when fixed cost is I1,20,000.
The 100% capacity sales will be. —

(A) <4,80,000
(B) 2,50,000
(C) 7,50,000
(D) None of the above.

Mnf the following statement(s) is/are
true :

58. Following information relates to a travel
agency : e (1)
Distance of one way

route : 40 Kms.
Round trips per day 3
Days operated in a

month VLY
Seating capacity

(80% occupied)

Common size balance sheet is vertical

financial analysis

(i) Financial analysis performed on behalf
of shareholders is called internal
analysis b

(iii) Trend percentage may be used for

both balance sheet and profit and loss

: 50 passengers account.

1730 - ANSWERS MARKED IN THE OMR ANSWER SHEET SHALL ONLY BE EXAMINED [®]g]{s P

62.

63.

64.
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Select the correct answer from the options
given below —

(A) (i) and (ii)
(B) (i) and (iii)

(O (i) and (iii)

(D) (ii) only.

Following information is given :
Standard fixed overheads

rate per hour ¢
Budgeted hours 12,500
Standard number of

working days SR 5
Actual ‘hours 11,500

Actual number of working
days : 22
Calendar variance will be —

(A) 2,840 (A) jaEn e
B) 5000 (A) 4"
(©) 2,500 (A)
(D) 7,500 (A).

Management accounting does not include
the function of —

(A) Planning and control

By Product costing

(C) Preparation of financial statements
ecision-making.

Kriti Ltd. has provided following
information for the quarter January to
March :

January February March
Sales @ 20
per unit (units) 1,000
Closing
debtors %) °~ 16,000 40,000 64,000

2,000 3,000

¥
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20% of the sales are on cash basis and
balance on credit basis. The amount to be
collected from debtors in the month of
February and March will be —

(A) Zero and T8,000 respectively

(B) 28,000 and 16,000 respectively
(C) 8,000 and T24,000 respectively
(D) 16,000 and T36,000 respectively.

65. Following information is given for
Component 'A’ :

Normal usage 50 units per week, maximum
usage 75 units per week, reorder period
4 to 6 weeks. The minimum level of stock

will be —

(A) 250 Units Mep. M- 2 ‘f' ,?'O
(B7 150 Units 134 Qm,ui_lfi..
(C) 450 Units > 25wl

(D) 200 Unats.

66. From the following financial data, compute
stock turnover ratio and stock velocity
(assume 360 days in a year) —

Opening stock 358,000
Purchases <5.,02,000
Return outwards <18,000
Sales . %6,53,000
Return inwards 313,000

25% on sales
Choose the correct option —

(A) 8 times; 45.62 days

(B) 8 times; 45 days

(C) 10.67 times; 33.75 days

(D) 7.74 times; 46.51 days.

Gross profit

P.T.O.
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67. Which statement contains opening as
well as closing balances of cash and cash
equivalents and prepared on accrual
basis

(A) Cash flow statement
(B) Fund flow statement
(C) Both (A) and (B) above

(D) Statement of income and expenditure.

68. Quarterly consumption

of materials 2,000 Kgs.
Cost of placing an

order 350
Cost per unit <40

I"Storagc and other
carrying costs 8% of average

IHVEH[UI’)’

The economic order quantity and number

of orders to be placed per quarter of the

year will be —

(A) 400 Kgs. and 5 orders

(B) 500 Kgs. and 4 orders

(C) 500 Kgs. and 12 orders
(D) 400 Kgs. and 6 orders.

69. Which of the following account will be
debited under the integrated accounting
system when materials are purchased on

credit —

Purchases account
(B) Stores ledger control account
(C) Cost ledger control account
(D) None of the above.

1/2016/CMA

70. Cost of production for

71.

Minimum usage
Minimum lead time
Maximum stock level

10,000 units : X1,60,000 73,
Opening stock of finished
goods (1,000 units) : 18,000
Closing stock of finished
goods (FIFO) : 2,000 units
Selling and distribution
overheads . T2 per unit
sold
Profit mark-up on selling
price : 20%
The amount of profit will be — 74.
(A) <39,800
(B) <40,500
(C) 41,000
(D) 40,800
8% Preference share capital : <3,00,000
Equity share capital
(X10 per share) : X8,00,000
Profit after 30% tax . %2,80,000
Market price of equity share : I40
The earnings per share and the price-
earnings ratio will be —
(A) 3.50 and 11.43
(B) I5 and 8
(C) %470 and 8.51 | 75.
(D) %3.20 and 1250/
72. Re-order quantity : 300 Kgs.

. 20 Kgs. per day
: 5 days
: 400 Kgs.

Re-order level will be —
(A) 350 Kgs.

(B)Y700 Kgs.

(C) 375 Kgs.
(D)

20045
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Man ~ Qe G

150 Kgs. >) hfo E%O.S
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Cost of maintenance of an equipment for
12.000 hours of running is ¥1,70,000 and
for 18,500 hours of running, it is ¥2,09,000.
The cost of maintenance for 14,000 hours
will be — :

(A) <1,81,500

(B) <1,80,000

(C) <1,82,000

(D) <1,90,000

For a department, the standard overheads
rate is ¥2.50 ‘per_hour and the overheads
allowances arcjas {ollows :

Budget overheads
allowance (<)
10,000
7,000 18,000
11,000 26,000

Calculate the normal capacity level on the

Activity, lexel
(howrs)
3,000

basis of which the standard overheads rate
has been worked out —

(A) 8,000 Hours

(B) 7,000 Hours

(C) 6,000 Hours

(D) 9,000 Hours.

Acute Ltd. is committed to supply 24,000
bearings per annum to Mighty Ltd. on a
steady basis. It is estimated that it costs 10
paise as inventory holding cost per bearing
per month and that the set-up cost per run
of bearing manufacture is I324.

The optimum run size for bearing
manufacture would be —

(A) 3,800 Units

(B) 4,000 Units

(C) 3,600 Units

(D) 3,400 Units.
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76. Following information is supplied regarding

a contract in progress :

Details Amount  Stage of
(?) completion
(%)
Erection cost
to date 7,500 235
Fabrication cost
to date :
Material 60,000 60
Wages and other
expenses 47,500 50

Contract value 2,00,000
The estimated profit or loss at the completion

of the contract will be —
(A) 25,000 (Profit)
(B) 25,000 (Loss)
(C) 26,000 (Profit)
(D) 26,000 (Loss).

77. Which one of the following is the correct
sequence of the purchase procedure of
inventory —

Menting for material, issuing tenders,
receiving quz}lalion‘s, and placing
order :

(B) Issuing tenders and receiving
quotations, indenting for material, and

placing order

(C) Placing order, issuing tenders and
reoeiving quotations, and indenting for
material

(D) Indenting for material and placing
order.

P.T.O.
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82. Total number of workers 100 5 b7 - 322

Select the correct anSwer using the codes
Work
S overheads are recovered on the bas;.

78. PQR
pS}d Lt_d‘ has prepared the budget for the
n uction of one lakh units of the only given below — [dle time
m‘mﬂdlty- manufactured by them for a (1) (11) (i11) (iv) Working Savs wor ik 5% ol 50
Zosung period as follows : (A) (a) (d) (b) Factory Dvcrhcﬁdg DA 300 p h% on prime cost and administratiye
| ¢ : ver d
ost elements Z (in lakh) N{ (c) (d) (a) (b) Ko, of Hours ‘worked per day - <11,400 eads at 10% of works cost
Raw materi © @ @@ ©® © - ay : 8 Choose the co -
aterial Direct labour hour : rrect option —
| . D ® © @ @ - i ol = (A) 245,000
Direct labour 75 (A) © paise per hioir (B) ¥ 1
Di (B) 4 paise per h 45,240
rect expenses 10 80. There are two similar plants under the same C) 8 pai e e (C) 42
Works . (C) 8 paise per hour 2,240
overheads (60% fixed) 225 management. The management desires to (D) 5 paise per ho (D) 43,000
Administrative overheads mergelthesc two plants. The following - i
(80% fixed particulars are available : _ ' i
Selli ) 40 Details Plant-I Plant-II 83, Mallc'h the following events with type of 85. In financial analysis, 'time series analysis’
elling overheads (50% fixed) 20 Capacity operation - 100% 60% / activity : refers to — I3
If : - ; . , : ‘
the actual p{ﬂductlon during the period ¢ (in lakh) < (in lakh) Event Type of activit (A) Making a time series of various ratios
248 600{)0 I s A . . "4 T, ¢ " p;- d y to assess a firm's profitability _
per it will.be . — ariablE Boiis 440 (20 i) 4l -Loaucs lcv{:@ (B) A graphical comparison of a firm
(A) 740 Fixed costs R0 40 i C:rmi;: activity sources of finance ‘ a firm's
(B) <800 e Ca[;ﬂchy of the merged plant to be ) Jpesigning Gk () Paciliny lc‘m@:} M comparison of financial rati
operated fi . o Y/ i ratios
©) T700 w[;)“ b:_ or the purpose of break-even produ_{,l. activity - ojufcr a period of time to assess the
(D) 840 (A) 45.14% (iii) Production  (c) Unit level direction of change and the financial
; (B) 48.12% manager salary  activity \A7 o P:““m"“ of a firm
. (C) 50.76% (iv) Use of ol ) A comparison of time values f
M;h ?hc following overtime reasons to (Di 46.1 6‘7: 0 (d) Batch level ks puiind cad ﬁn: values for
charge in cost accountiné y o —— activity () ‘
Select orrect : p it
e : Rea-?‘f” Qd Charged to 81. Following information is given for an order : iiii l::h:: L o SRS o Tt matend s S
1 2 U s O (a) Job direct@ ] Materials (direct) : 25,000 : .E =i Normal loss of total input : 8%
to circumstances Xl Wages (direct) . 220.000 (1), (11) (ii1) (iv) Closing work-in-progress @ 900 units
F . Y 3 . .
5 beygf{d congrol [ ~ Factory overheads : 75_% of wages (A) (d) () (b) (a) Dtgfﬂff of completion for closing stock of
(i) Overtime due (b) General i | g;t;ecr) (B) (d) (c) (a) (b) work-in-progress and abnormal loss :
}7 to negligence overheads Profit ) 10 9;800 Lo ©) - (a) (d) (b) (c) Matenal - 100%
| or delav of . o ONn COSt O k: i\
b\ work ; - production Md) (a) (b) (C) O -
Efrs \ Ot O oiheads e SHavaed “as a - - uilpul; transferred to next process 7,900
(111) Qvemme resorted Y (c) Costing | perf:entage of factory cost. The amount of 84. From the following particulars relating t S
kOD due to desire of profit and office overheﬁds and its percentage (o Job No. 555, ascertain the total cost *g 0 R MG e B N
customer \‘ oot factory cost will be — COS? ‘ production units for material and labour are :
: : (A) 78,000 : ' i
(iv) Overtime due to / (d) Particular (B) 218,000 :nng ggz’ Direct materials 16,000 (A) 9200 and 8330, SR
general pressure department (C) ?25,800 e 43; _ Direct labour 8.000 (B) 9:200 and 8,810 respectively
i i | ﬁ | (D) ?33'000 and 55 ﬂ Direct expenses 1,600 €) 880000 2 oot Gy
’ P. : (D) 8,800 and 8,810 respectively.
1/201
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87. The standard material required to manu-
facture one unit of Product-A is 5 Kgs. and
the standard price per Kg. of material is 3.
The cost accountant's records, however,
reveal that 16,000 Kgs. of material costing
T52.000 were used for producing 3,000
units of Product-A.

Material price variance will be —
(A) 4,000 (A)
(B) 4,000 (F)
(C) 4,300 (A)
(D) 4,300 (F).

88. Which of the following statements is/are

false :
_(i), Product can be sold below marginal

cost in certain special circumstances
(ii) Cost per unit of key factor is the basis
of ranking products on profitability

v@ff)._/ When there are no inventories, profit
figures under marginal and absorption

costing are identical.
Select the correct answer from the options
given below —
(A) (i) only
(B) (1) and (1)
(i) and (111)
(D) (i) and (1i).

89. Which of the following is/are the
characteristics of service costing : -
(i)~ Use of composite cost units
(ii) Documents like daily log sheet, cost
sheet, etc. are used for collection of
cost data

(iii) Expenses are divided on functional
basis as in unit costing.

Select the correct answer from the options

given below —
(A) (i) only
(B) (i) and (ii)
(C) (ii) and (1ii)
(D)~ (i) and (iii).

75
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90. Following data ar¢ given :
Product-A Product-B

Contribution per

unit (<) 30 28
Direct labour

(hours per unit) 5 4
Maximum possible

production (units) 10,000 10,000

Direct labour hours available 72,000 hours.
What should be the number of units of A
and B to be produced to maximise profit of
the company —

(A) A-10,000 units, B-5,500 units

(B) B-10,000 units, A-5,500 units

(C) B-10,000 units, A-6,400 units

(D) 10,000 units of each A and B.

91" The formula for computing overheads

efficiency variance is —
thorbed overheads — Standard
~overheads

(B) Standard
budgeted overheads
(C) Absorbed overheads. — Budgeted

overheads
(D) Absorbed overheads, — Actual

overheads.

overheads — Revised

If average collection period is 15 days and
average account receivables is 45,000, the
total amount of credit sales will be (assume

360 days in a year) —

_(AY7%10,80,000

(B) <16,20,000
(C) 6,75,000
(D) <1,87,500

:19: 322

97/Murrgin_uf safety is ¥8,000 which represents
40% of sales. P/V ratio is 50%. Fixed cost

will be —

93, A process in which management is looking

outward to examine how others achieve

their performance levels and to understand
the process they use, is called — (A) 6,000 W, Rl
(B) 4 500 % G O(_wJ
/ (Cr%6,500 3
(D)

}H./Whm 1S the proper sequence “in standard
costing to control cost and measure
efficiency —

(A) Balanced score card
(B) Target costing

(C) Bench marking process
Performance analysis.

94. Cost of goods seold 34.00.000
. . (A) Try to achieve targets, ¢ are actu:
Administratten and office DA g o BT actual
costs with targets, set targets

2 el 335,000 B)~ Set targets, compare actual costs with
Selling and dustribution targets, try to achieve targets —
eXpenses T45.000 (C) Set targets, compare actual costs with
Net&redit sales Z4.75.000 targets, report 10 management, revise
Cash sales . 1,25,000 the targets |

_ ) . (D) Set targets, try to achieve targets,
Operating profit ratio will be — -

S compare actual with targets, report o

(A) 30% management.
(B) 35%
(C) 20% 99. Direct matenial cost 45,000

Direct labour cost is 40% of direct
material cost

Rovalties on production 34,000

Other direct expenses are 20% of
prime cost.

(D) 25%.

Miéh one of the following is not a

statistical technique of cost audit —
(A) Monte-Carlo simulation Prime cost will be —
(A) 78,750

(B) Inter-firm comparison
Network analysis (B) 83,750
' (C) 80,400

(D) Exponential smoothing. (D) None of the above.

100. A budget in which @ centre

manager must justify cac_h*p\ann‘ed activity
and its budgeted total cost is called —
M raditional budget

(B) Zero based budget
(C) No flow of funds (C) Master budgel

(D) Functional budget.

96. If provision for taxation is treated as a
current liability, then payment of tax is —
(A) An application of funds
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